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6.1 Perpendicular and Angle Bisectors Practice Problems
1) Find the range of side lengths for a triangle with side lengths 8x and 5x. 
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4) Write the equation of the perpendicular bisector of the segment with endpoints (13, -7) and (21, -11).
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[image: ]6. Prove (the converse of the Perpendicular Bisector Theorem) that if a point is equidistant to the endpoints of a line segment, it lies on the perpendicular bisector of that segment.   Hint: There exists exactly one line through a point perpendicular to a line. 
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Given: CD is a perpendicular
bisector and BD is an angle
bisector, find x and y. xX+y
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Given: Marked Information
Prove: BE = DE
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In the coordinate plane shown, AA BC has vertices A(—4,6) . B(2,6) , and C(2,2) .
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What is the scale factor and the center of dilation that will carry AABC' onto ADEF 2

Enter your answers in the boxes to complete the sentence.

The scale factor is and the center of dilation is at




image5.png
— = e
inthe figure shown, OF intersects AD and EH at points B ang F

respectively.
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PartB

« Given mZCBD = m/BFE
« Prove: m/BFE +m/ DBF = 180°

‘Select from the drop-down menus to support each line of the proof.
Statement m/CBD = m/BFE Reason
Choose. v

Statement mZCBD +m/DBF = 180° Reason
Choose. v

Statement m/ BFE +m/ DBF = 180° Reason
Choose. v




